3apaHue Ne 1.
00— 25;

46 —(15+16);
19 — n;

a+ a;
(101+13)—61;
(19+nr)—9.



UncnoBble
BblpaXXeHns

90-25;
46-(15+16);

(101+13)-61.

BykBeHHbIe
Bblpa)KeHWs

19-c;
ate;
(19+c)-9.



maxue suviPpadceHUus, Komopbsvle

COCMAe.AeHbl U3 HuUcen, SHaAKo08
mamemamuueckux deucmauil u
CKOOOK.

.-
4 YJucao8ble sbiparx@ceHus — 3mo N =
_
=

U




90-25=65; 19-c;
46-(15+16)=(46-16)-15=15; a+e:
(101+13)-61=(101-61)+13=53. (19+¢)-9=(19-9)+c=10+c.



b cm

a CM

a CM

P=2a + 2b

P=4a



3X + 2;
40 — 15;
(16 — c) + 4;
a—2;
(28 + 12) — 8§;
100 + 4 * 5.



